Catching Up With Hogwarts Express

Ron Weazly and Harry Potter have missed the train to Hogwarts, again!!!  So, Ron decides to steal his father’s flying car again in order to catch up with the train.

But, there is just one problem.  The car has some mechanical problem and cannot fly faster than 42 miles per hour (mph) along the railroad, while the train to Hogwarts travels at 85 miles per hour.

On the good side, Harry Potter has learned new incantations at Hogwarts in the previous year and can use his wand to make the car go 10 miles instantaneously.  But he can do this ONLY after the car has traveled 8 miles on its own.

1) Assuming a 15 mile head start for the train, find how many times Harry Potter has to use his wand before he and Ron Weazly can catch up with the train.

2) Draw a bar graph to display the travel of each vehicle graphically.

